LEAFAO] 131 SlIET} gl= &8

=5 4Y/HIE o[0ix|

7

=l o vy =
OIBA AR BT U FAHE
HEFIPEL PNEE)

Ax2|l L LA EB0|E -,
CEPSTEl
HH:
Z80|E FH 6mmE EFY AQ| =& x|,
Z20|E T 6mm 0|4 16mmE ElQ Bo| =& ®|£.
E TA240| | Z3|0|E AtO|ol 0.1mm O|A+o] ZtZd0| A ZiL|ct
E7|E 522 B A K10652 A28 0] tsf M ELict.
T - QHMIME]:
| el 5 2 K1065.
|
b
2
=
L2 H
L1 H1
2h, £ 55
& ,
Q| S ? F—- E’ %
L5
Dé
Y | ) |
A = b /R
i ! o - | /
8 M \ Y =
< |
o M
T
©
E= Q0

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/2



LIAHMO] Q11 SlI=71 @l 28 =2 2AH|IIE A 2 EF E
ES 9%

d=olgti=E=3 E
=

A THE D D1D2D3 M L1 L2 L5 H H1 SwDe T X3 ALY M I F=3HF 2 MF

FEHS

o —_
max. N kN kN
K1063.6212 AEl 12 6 12 8 M8x1,25 19 21 13,5 22 17,5 10 13 10 90 30 3 0,5 <180 °C
K1063.10242 AE] 1610 16 11 M12x1,5 21,5235 16 344 28 13 17 16 150 50 9 1,5 <180 °C
K1063.16212 2EIQIBA AE! 12 6 12 8 M8x1,25 19 21 13,5 22 17,5 10 13 10 90 30 3 0,5 <180 °C
K1063.110242 AEIQIBIA AE! 1610 16 11 M12x1,5 21,523,5 16 34,4 28 13 17 16 150 50 9 1,5 <180 °C

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



